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Answer the Questions from any one Option.
OPTION - A
( E-Commerce)
Paper : COM-SEC-4014
OPTION-B

( E-Filing of Returns)
Paper : COM-SEC-4024

.Full Marks : 50

Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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1.

OPTION-A
Paper : COM-SEC-4014

( E-Commerce)

Answer any four from the following :

1x4=4

WefRe@T o[ R s Yl W g

(i) E-Commerce refers to

BT oy

(@) buying products
AT T =
(b) - selling services

CRIFTZ [t 91

(c) selling products

AT [t 51
(d) All of the above

G2 FHAEIT

(i1 i
(i) Which segment focuses on consumers

dealing with each other ?

(B! B NPT ST BIewe TS (T

I a9y ey ?

(@ C2C
Bafo

(b) B2B
RF
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RN AR R

(i)

(iv)

(v)

() C2B
TG

(d) P2P
s

Electronic commerce can increase sale
and costs.  (Fill in the blank)

sER Ao R 3fE SR A =% A
, (0Tt 312 779 )

IP stands for
iz 1 o (™=

(a) Internet Protocol
TR B
(b) Internet Programming
TR0 R
(c) Internal Program
SRR T
(d) Intra Program
T A
Internet is owned by
THEEE TR
(a) Microsoft Corporation
TEPH FCAEDT
(b) Tata play
BT (29
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(c) Facebook
(THI9
(c) None of the above
GRRITF (PG T
(vi) E-payment is doing payment :
(Fill in the blank)

oA R MR ERIcs =t AR |
(AT} 12 979 )
(vii) E-marketing provides
S 2wiv

(@) national coverage

G FOIES

(b) local coverage

FR T TS

(c) global covérage
(SIETRR TS

(d) None of the above
GRIT G T
(viii) <BODY> is a tag.
(Fill in the blank)

<BODY> «oi el
(T HZ 959 79)
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2x3=6

Answer any three :

Rzt fofoia Tes ot 8

() What is an e-business model ?
oS Wi e

(i) Whatisa digital signature ?

fRofercoer wrwe /e
@iii) State few advantages of web add.

@R Realoia (B R4 T =1 |
(iv) Define e-wallet.
BB ket fratt |
(v) What is cryptography ?
TFToIae e
(vij What is phishing ?
R e

Write short notes on : (any two) 5x2=10

53 Coret ot ¢ (fcereat gY)

i) E-commerce revenue model

TG TR WO
(ii) Basic structure of a HTML page

Bt (BN oIF e sl
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(iii) Technology used in e-commerce
23ty IS oY@
(iv) Online banking
eI (3R
(v) 1T Act, 2000
Wi ©3, 2000
(vi) Cryptography
feresBiarR

4. Answer any three : 10x3=30
Ricerzan b1 Ses forai s
) ]?eﬁne lists. Explain different types of
lists used in HTML with one simple
example. 2+8=10
Sifeig TRl 7w | @Bl e TR e
G Hasaa-s IRge [fen dviea oifere 394t
401

(i) Write the salient features of the IT Act,
2000.

w126 93, 20003 JY WEBRR Fran |

(iii) What is online shopping ? Explain
different steps involved in the online
shopping process. 2+8=10
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(iv)

(v)

TR AR R SR AR RIS SEE
R sMrFARR 3 1 |

What is electronic payment system ?
Describe different methods of electronic
payment system. 2+8=10

g ARCIY 2T e Teighe AR
AT Rfow imfe 3¢ 74|

Write about different factors involved in
e-commerce website design.

3 R Twize wwge Riew T
R et

Write about different steps and
techniques for promoting an
e-commerce website.
B RRLID GOIF 51T AR Rfew e
i (FrieTe Raca o

(viij) Describe e-commerce security threats.

231y PR RS 396 =1

(viii) Describe the major e-commerce

business models.
25 23 AR TGN 61 41 |
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OPTION-B
 Paper : COM-SEC-4024
( E-Filing of Returns)

1. Say whether the foilowing statements are
True or False : (any four) 1x4=4
wete fint Rz wa @ wow Rl ¢ (Remzay
513613) |

| () E-Filing is mandatory for a company.
B! CFI™AITIE A E-Filing ATORE 2 |

(@)  Filing of ITR is compulsory if a tax payer
has dep9sited an amount of Rs. 1 crore
or more in one or more than one current
account.

T GO TSR P B 3 STl @
/ @mwmﬁmmw‘wiﬂw
. al,mmmmmﬂamww
f | (ifi) A person can hold qt least two PAN.
} WMWWEF/PANWWI

(iv) Assessment is
year is always a i
f 12 months. : Y period of

et TR 12 e 2
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(v) For submitting Form 15G, the applicants
must be below 60 years of age.

Form 15G &l 31 AR SEHARRE T
60 IFT OFF I AR |

(vi) IGST is collected by State Government.
GRFS GST e 53 AT IR |

(vii) GST signifies one state many tax.

GST (¥ &3 15y I3 Bz
(viii) The burden of GST is borne by the
. consumer.

GST 3 @M% TATSIER I FE |

2. Answer any three of the following questions :
2x3=6

| At ey A A5 Te =1

(@) What is ITR-V ?
ITR-V e

(p) What is digital signature certificate
(DSC) ?
Digital signature certificate (DSC) e

(¢ What do you mean by total income ?

o o e g
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(d) Explain briefly about TAN.
TAN 7R3 5(F IRI A1

(c) Explain the structure of PAN.

PAN 3 5159 F=9itE 9101 11 |
(e) What do you mean by Form 16A ?
16A B B | (d) Who are responsible for deducting tax
e T : at source ?
() Write short note on ITR-1. | oS T e T g N oS o T
ITR-1 3 89[7® 53 (B fora | =

(e)  Write a short note on GSTR-1.
GSTR-1 3 '89S 55 Gt 7|

3.  Answer the following questions : (any two)

5x2=10
o o B el ¢ (77 wr () Write the names of any five specified
’ 70 | financial transactions in which quoting
(@) State any five differences between y of PAN is mandatory.
E-filing and manual filing of returns. Riceren 7ot Reaa R8R Ewoma = Fri a°e
E-filing 1% Z@bifi® 39 2o | PAN TErd IICH! AGSIE |
iR 1
TS A1 Rz =5t Nk frat | |
(b)) Menti | 4. Answer the following questions : (any three)
ention any five disadvantages of ) 10%x3=30
manual filing of returns. | v B )
, O] ST s (Rt ol
oIS T 2o Wik T v sty |
Sfdt B < | (a) Mr. Raghab Baruah, aged 45 years, is
employed in a public sector company.
4 (Sem-4/CBCS) SEC 12 ECOMERR)G 10 |
f 4 {Sem-4/CBCS) SEC 1-2 (E-COM/E-FR)/G 11 Contd.




During the previous year 2021-22 5l
sic salary 0of 21,00,000 .y

received a ba
dearness allowance 50% of basic Salaxy’

house rent allowance 40,000 p.m. angq
special allowance of 10,000 p.m
Mr. Baruah resides in a rented house gt
Guwahati and the rent paid by him jg
230,000 p.m. He maintains a savingg
bank account with HDFC Bank anqg
during the previous year 2021-22
340,000 was credited in his bank

account as interest.

During the previous year, he had paid
260,000 as life insurance premium and
225,000 as medical insurance premium

through net banking.

Compute his tax liability if Mr. Baruah

opts for old regime.
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(b)

A T A, T 45 727 O < T
eSS T | 202 1-22 AREF IS (SACT
I R 2 W 1,00,000 T, SR AE
I TPRE 50%, 79SSt BiG 40,000 Bt @S
SR R: {e ©i51 w11tz 10,000 5 #4171 A
IR SARCRE B! Bl 7@ A% F(I O &lfS
St 30,000 T3l ©iwt “Af{eitd T | (SLA9F
HDFC @@ @t 7keex 2o wiicg =i (@Rl
YRS T 2021-22 © 74 AW 40,000 T
ol o |

(OLATS Gige 1 5 60,000 5t i< fHiFeat
T IRT 25,000 B (16 @6 =t AR
FE|

A} T IR A A /AT o T
sifase e =t |

Write a note on various provisions of the

new tax regime.

T T TE Ree ez o 3 afo (Bt i
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(c) Explain various types of TDS certificateg
along with their applicability and relateq

provisions.

&7 TDS certificates I RS TR ey

ol
(d) Explain the contents of Form 16.
Form 16 9 35172 31 31 |

(e) Explain various ways of verification of
ITR submitted by an assessee.

ITR wifeT eidl 3919 Rfen s 3 )

() Explain various ITR forms used by

different types of assessees.

e Taroiz = =t Rfeq ITR eiviesng
et ez |

(@9 What is E-filing ? Mention four
advantages and four limitations of
E-filing.

E-filing {2 E-filing I 51561 54t =i 51757
Aol Beerd 3= |
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21 AT P TR R 3efyy

Write various ste

total income.

15 I P 1 i oo o
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